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r
The@lar oil slick expands at a rate of 3 m/min. )

(@) How fast is the area of the oil slick increasing when the radius is 23 m?

dA —sz/mzn r:Z}M

(b) If the radius is 0 at time £ = 0, how fast is the area increasing after 5 mins?
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Helium is pumped into a spherical balloon at a rate of 3 cubic feet per second. How fast is the radius
increasing after 2 minutes? -

Note: The volume of a sphere is given by V = (4/3)7r>.

Rate of change of radius (in feet per second) = O
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A 15 ft ladder leans against a wall. The bottom of the ladder is 5 ft from the wall at time ¢ = 0 and slides
away from the wall at a rate of 1ft/sec.

Find the velocity of the top of the ladder at time ¢t = 2.

The velocity of ladder at time ¢t = 2 is O ft/sec. 2 7 1
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